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10.

Physics .

An objectis at 20 cm in front of a plane mirror. The mirror is moved 10 cm away from the
object. then the distance between the two positions of the image

@ 20 cm 15 cm © 10cm ® 25cm

The incident ray and the reflected ray from a mirror (plane) are mutually perpendicular
to each other. The angle of incidence be x°; then x° -30° =

® 20° 15° © 35° © 25°

If aman runs at the rate of 5 m/s towards a plane mirror along normal line of the mirror,
then at what rate will he approach his image formed by the mirror.

®@® 5m/s 10 m/s © 15m/s ® 20m/s

A man standing infront of a plane mirror finds his image at a distance 4 m from himself.
Then the distance of the man from plane mirror is

® 1m ® 2m © 2.5m ® 1.5m

If R is the radius of curvature of a spherical miror and fis its focal length, then:
® R=f r=L © R=3f © R=2f

A diverging mirror is

® a convex mirror a concave mirror

© a shaving mirror ® aplane mirror

While using a concave mirror as a shaving mirror

® the object should be close to the concave mirror

can be used as make-up mirrors

© can be used to see the larger image of the teeth by the dentist
®© all the above are correct

Select the non-luminous object

@ Electric bulb (on condition ) Sun

© Moon ® Burning candle

If the incident ray makes an angle 0° with the normal, then the angle of reflection is
® 0° 30° © 60° © 90°

If the angle of incidence (for reflection)is 30°, then angle of deviation is

® 90° 110° © 100° ® 120°
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In case of irregular reflection,at each point on the surface of the reflector
® Laws of reflection are valid Laws of reflection are invalid
© Some times laws of reflection are valid ® None of these
The focal length of a spherical mirror whose radius of curvature is 40 cm
® 15cm 30 cm © 25cm ® 20cm
When a ray of light which is parallel to the principal axis of a concave mirror, then
reflected ray passes through
® Centre of curvature Pole
© Focus © None of the above
If incident ray passes through the centre of curvature of a concave mirror, then reflected
ray will pass through
® Centre of curvature Pole
© Focus © None of the above

If incident ray passes through the focus of a concave mirror, then reflected ray becomes

® Inclined to the principal axis Parallel to the principal axis

© No reflected ray ® None of these

In, rectilinear property of light:

® Light travels in a Straight line Casting of shadow of an object
© Both ® and ® are correct ® None of these

When an object is placed between the focus and centre of curvature of a concave mirror
the image formed is

@ diminished magnified

© same size of object ® None of these

When an object is placed at the centre of curvature of a concave mirror the image
formed is

® diminished magnified © same size of object ®none of these

When a plane mirror rotates 30°, then the rotation of reflected is
@ 30° 45° © 90° ®© 60°

If the concave mirror is immersed completely in water, then shift of image with respect
to when it was kept in air

®@® 10cm 5cm © 15cm ® no shift
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21. Ifthe focal length of a concave mirror is 20 cm, then if the mirror is kept inside kerosene
medium, its new focal length is
® 10 cm 15 cm © 20cm ©® 25cm
22. If object is placed at a distance of 40 cm from a concave mirror (of focal length 20 cm),
then image distance from pole is
® 20 cm 30 cm © 40cm ® 60cm
23. If incident rays are parallel to principal axis of a convex mirror (f = 20 cm) and are
coming from infinite distance, the image distance from pole of the convex mirror is
® 40 cm 10 cm © 30cm ® 20cm
24. In case of shaving mirror (focal length = 20 cm), the object distance from pole will be
® <20cm >20 cm © =20cm ® none of these
25. The focal length of a concave mirror is 20 cm and object is placed 10cm infront of
concave mirror from pole, then |linear imaginification| =
® 1 2 © 25 ®© 3
. ( i | .
: Chemistry | .
26. Calcium oxide (CaO) is also known as—
® quicklime slaked lime © milk of lime © lime water
27. The colour of ferrous sulphate crystals is
® Blue Yellow © Green ©® Brown
28. Reaction of iron nails with copper sulphate solution is an example of—
® combination reaction decomposition reaction
© displacement reaction ® double displacement reaction
29. A solution of sodium sulphate in water is—
® sky blue in colour pale green in colour
© yellow in colour ® colourless
30. Digestion is the example of—
® displacement reaction Combination reaction
© neutralisation reaction ® Decomposition reactions
31. When we add common salt in AgNOj (silver nitrate) solution the precipitate formed

will be—
® black coloured blue coloured  © yellow coloured ® white coloured
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Chemical equation for the formation of hydrogen sulphide gas is ZnS + xHCl = ZnCl,
+ H,S. What is the value of “x” in the equation, respectively?

® 2 ® 1 © 4 © 3

CuO reacts with H, gas the correct statement is —
@ CuO is reduced to Cu and H, is oxidise to H,O»
CuO is reduced to Cu and H, is oxidise to H,O
© CuO s oxidised to Cu and H, is reduced to H,O
® None of CuO or H, Suffer oxidation or reduction

When CO, gas comes in contact with aqueous Ca(OH), then the correct product is

@ White coloured CaC, White coloured CaCOs3

© Yellow coloured CaC, ® Yellow coloured CaCO;

Which of the following is the main constituent of natural gas that burns with oxygen gas
readily ?

® SO, CH4 © NO, ®© Cl,

What is true when vegetable matters turns into composts?

® Heat is released Heat is absorbed
© At first heat is released then absorbed ® At first heat is absorbed then released

The correct products when lead nitrate is strongly heated?
@ PbN02+N02+02 PbOg+N2+02
©Pb+N02+02 @ PbO+N02+02

In cement industry, which of the following compound is widely used?
@ CaCz CaO © C&Clg @ C&(HCOg)g

What happens when silver chloride is exposed to sunlight?
® Black coloured silver is produced along with Cl, gas
Black coloured silver oxide is produced along with Cl, gas
© Grey coloured silver oxide is produced along with Cl, gas
® Grey coloured silver is produced along with Cl, gas

Assertion - reason type question. Select the correct option

OPTION A : Both assertion and reason is corrcet and reason is the correct explanation of assertion

OPTION B : Both assertion and reason is corrcet and reason is not the correct explanation of
assertion

OPTION C : Assertion is correct statement but reason is wrong statement
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OPTION D : Assertion is wrong statement but reason is correct statement
Assertion : Magnesium ribon burns in open air
Reason : Oxygen helps burning of any substance

41. Colour of NaCl solution is
® yellow colourless © red ® green

42. When zinc reacts with dilute H,SO, then along with ZnSQO,, the correct product is
@ Hzo 02 © HzOz @ H2
43. When Fe reacts with steam the correct statement is

® Iron is oxidised by steam

Iron is reduced by steam

© FeO is formed

® liquid water is used for this reaction at room temperature
44. Which is an example of chemical change?

® Rusting of iron Condensation of water vapour
© Melting of iron ® Solubility of glucose in water

45. Consider the reaction NaOH + HCl — NaCl + H,0. In this reaction
® NaOH is oxidised and HCl is reduced
NaOH is reduced and HCl is oxidised
© Both NaOH and HCI are oxidised
® Neither NaOH nor HCI face oxidation or reduction
46. Respiration is considered as an exothermic reaction because

® Mass of product decreases Mass of product increases
© Energy is absorbed ® Energy is released

47. When quick lime reacts with water then calcium hydroxide is formed. It is an example
of

® Combination reaction Displacement reaction
© Double displacement reaction ® Decomposition reaction

48. Which type of decomposition causes the formation of CaO and CO, from CaCO3?

® Electrolytic decomposition Thermal decomposition

© Photochemical decomposition ® Aqueous decomposition
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49. When barium chloride reacts with sodium sulphate then the colour of the precipitation
is
® Brown Yellow © Green © White
50. Electrolytic decomposition of water in presence of dilute acid produces
@ H202 + 02 HgOg + H2 © H2 + 02 @ H202 + Hg + 02
= Mathematics| :
51. Ifa=23%x3,b=2x3x5c=3"x5and LCM (a, b, ¢) =23 x 3% x5, then n =
® 4 3 © 1 ®© 2
52. The sum of exponents of the prime factors in the prime factorization of 196, is—
® 2 4 © 6 @ 1
53. The exponent of 2 in the prime factorization of 144, is—
® 5 6 © 3 © 4
54, The LCM of two numbers is 1200.Which of the following cannot be their HCF?
® 600 400 © 500 © 200
55. If (x +a) is a factor of 2x? + 2ax + 5x + 10, then the value of a is—
® 3 2 © 0 ® 1
56. For what value of k, - 4 is a zero of the polynomial x* - x - (2k + 2)?
® 4 5 © 9 © 8
57. If oneroot of the polynomial f{x) = 5x? + 13x + k is reciprocal of the other, then the value
of kis
® 0 5 © 5 ® 6
58. The product of the additive inverse and multiplicative inverse of 6 is :
® -6 1 © -1 © 5
59. Which of the following alternatives is wrong? Given that :

(i) Difference of two rational numbers is a rational number.
(ii) Subtraction is commutative on rational numbers.

(iii) Addition is not commutative on rational numbers.

® (ii) & (iii) (i) only © (i) & (iii) ® All the above

Techno India Group e DN-25 e Sector-V e Kolkata



60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

[7]

'The HCF of any two prime numbers a and b is

® a ab © b ® 1

Which of the following rational numbers have terminating decimal expansion?

® 64/455 29/343 © 13/625 © 1/308
Quadratic polynomial having zeros 1 and -2 is

® x’-x+2 P -x-2 © P+x-2 ® None of these
If (x - 1) is a factor of kx3 - 4kx® + 4kx - 1, then the value of k is

@1 -1 © 2 ® -2

Quadratic polynomial having sum of its zeros 5 and product of its zeros - 14 is

® x*>-5x-14 ¥’ -10x-14 © x*-5x+14 ® None of these

« and 3 are the zeros of the polynomial f{x) = 6x? - 3 - 7x then (« + 1)(8 + 1) is equal to -

5 5 2 3
® 3 3 © < © ¢
The traffic lights at three different singals change after 48 seconds, 72 seconds and 108
seconds. If they change at 7 a.m. simultaneously. How many times they will change

between 7 a.m. to 7.30 a.m. simultaneously?

® 3 4 © 5 © 2

The G.C.D of (2002, k) = 4, then the value of k is

@ All even values 4 only

© All odd values ®© For all values of k, it is not possible

The largest number which divides 62, 132 and 237 and leaves the same remainder in
each case is

® 34 33 © 35 © 36

The least perfect square number which is divisible by 8, 15, 20, 22 is

® 435600 43560 © 39600 © 465660

The ratio of two numbers is 3 : 4 and their HCF is 4. Then LCM is

® 12 16 © 24 © 48

Let p(x) = ax? + bx + c be a quadratic polynomial. It can have at most

® One zero Two zeros © Three zeros ® None of these

The number of zeroes that polynomial f{x) = (x - 2) + 4 can have is

® 1 ® 2 © 0 © 3
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73. Zeroes of a polynomial can be determined graphically. No. of zeroes of a polynomial is
equal to no. of points where the graph of polynomial
® intersects y-axis intersects x-axis
© intersects y-axis or intersects x-axis ® none of these
74. 1f p(x) = ax® + bx + ¢, then —Z is equal to
® 0 1
© product of zeroes ® sum of zeroes
75. If p(x) = ax? + bx + cand a + ¢ = b, then one of the zeroes is
® 2 < © = ® =2
. "Biology .
76. Photolysis of water takes place in—
@ Sunlight At night
© Both in sunlight and at night ® None
77. Reduced form of NADP is—
® NADPH NADP, © NADPH, © All
78. Glucoseisa compound
® 5C 4C © 6C ® 7C
79. Number of milk teeth in humans are—
® 32 20 © 30 © 22
80. Stomach is—
® S shaped C shaped © D shaped ®© ] shaped
81. Trypsin helps in digestion of—
® Fat Protein © Starch © All
82. Egestionis—
® Removal of nitrogenous wastes Removal of toxic wastes
© Removal of undigested food ® Removal of water
83. Gastric juice is—

@ Acidic Alkaline

© Neutral ®© Slightly alkaline
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The end products of fat digestion is/are—

® Glucose Fatty acids and Glycerol
© Amino acids ©® Alkaloids

Saliva converts—

® Proteins into amino acids Glycogen into glucose
© Starch into maltose ® Fats into vitamins

The energy change in photosynthesis is from—

® Light energy to electrical energy Chemical energy to light energy

© Light energy to chemical energy ® Chemical energy to electrical energy
Organisms feeding on dead and decaying matter are called—

® Parasites Herbivores © Saproptrophs © Insectivores
Full form of NADP is—

® Nicotinamide Dinucleotide Phosphate
Nicotine Adenine Dinucleotide Phosphate

© Nicotinamide Adenine Dinucleotide Phosphate
® None of the above

Digestion of food in humans starts from—

® Duodenum Small intestine =~ © Buccal cavity ® Large intestine

Which of the following has no digestive enzyme?
® Saliva Bile © Gastric juice © Intestinal juice

Which of the following nutrients is the main source of energy for our body?

® Carbohydrates Proteins © Fats ® Vitamins

Which nutrient is required in small amounts, but is essential for various metabolic
processes in the body?

® Carbohydrates Proteins © Fats ® Vitamins

Name the organ that stores bile.

® Liver Gall bladder © Stomach © Large intestine
Which one of the following leaves can be used in experiments to prove the importance
of chlorophyll in photosynthesis?

@ Banyan Mango © Neem ® Croton
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95. The indicator used to test the presence of starch in leaves is—

® Eosin Methylene blue © Safranin ®© Iodine
96. Those organisms who depend on other living organisms for food are—

® Autotrophs Saprotrophs © Parasites ® Holozoic feeders
97. Villi in the small intestine help to increase the surface area for of food.

® Ingestion Digestion © Absorption ® Assimilation
98. Amoeba shows nutrition.

® Saprotrophic Parasitic © Autotrophic © Holozoic

99. The end product of protein digestion is—
® Glucose Fatty acids © Glycerol ©® Amino acids

100. How many molecules of carbon dioxide are utilised to produce one molecule of
glucose, during photosynthesis?

® 6 ® 5 © 4 © 3
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